

HQ Infoline

A Service From New Zealand Association of Radio Transmitters



Issue 383 - Saturday 3^{rd} November 2018

Infoline Editor

Don MacDonald ZL3DMC infoline@nzart.org.nz

NZART Contacts

Website: https://www.nzart.org.nz

Email: <u>nzart@nzart.org.nz</u> Telephone: 04 939 2189

In This Issue

ELG REPORT	1
CONFERENCE 2019	
SITUATION VACANT	
60M UPDATE	
CONTEST COLUMN (MISSED FROM BREAK IN)	
OFFICIAL BROADCAST	
OFF SHORE NEWS LINKS	
AROLIT INFOLINE	5

ELG Report

Nigel Goldstone ZL2SEA has applied for a packet Winlink node repeater on 144.650 MHz. The location is Topo 50 BB32 761.1 966.7, Kaipara Road Papakura.

In accordance with RSM PIB38, ARE035 (ELG) certifies that no interference will be caused to other stations.

Steve Fogerty ARE (ZL2ASF)

ELG Team Leader

elg@nzart.org.nz

Conference 2019

NZART Conference 2019 is to be held in New Plymouth on Queens Birthday Weekend, Saturday June 1st and 2nd 2019 at the Quality Plymouth Hotel.

*Note: The Plymouth has asked that Campervans do not park for the duration of the weekend in their parking.

The closest campervan site is Belt Road officially however there is a campervan site in Bell Block that members of the NZMCA should know about as they get discounted rates on is the next best option also information can be found at this site:

http://www.newplymouthnz.com/Residents/Attractions-and-Recreation/Camping

Accommodation available at the venue, details can be found on the conference website: conference.zl2ab.com

Situation Vacant

Fists needs an administrator.

Due to competing demands, I find I am unable to maintain this small but determined group that play a historic role in preserving our hobby.

If you have an interest in CW, and preferably possess capabilities in managing Excel, this easy little job should excite you.

I wish to be relieved of a small collection of material, including a healthy bank balance.

Please contact me if interested

73, Dave

David Allen, Director Blind-Sight Limited

For computer training and support world-wide, equipment or braille production please contact me through any of the following ways:

Email: info@blind-sight.com

Telephone: 64-3-455-7694 (Home)

64-27-224-5489 (Mobile)

PO Box 9046 St Clair Dunedin 9047 NEW ZEALAND

60M Update

The latest update can be found at:

https://drive.google.com/file/d/1t9tIVBI8ftsz1qckqHJTqqAODQYYuBHE/view

Contest Column (missed from Break In)

BREAK-IN SEPTEMBER/OCTOBER: CONTESTS

Oceania DX Contest 2018:

Results of the 2017 contest and rules for 2018 are available at: www.oceaniadxcontest.com/

My pick of the upcoming International Contests:			
JARTS RTTY	Oct 20/21	www.jarts.jp	
WAG CW/SSB (Worked All Germany)	Oct 20/21	www.darc.de	
Ukrainian CW/SSB	Nov 4/5	www.urdx.org	
WAE RTTY (Worked All Europe)	Nov 10/11	www.darc.de	
JIDX Phone	Nov 10/11	www.jidx.org	
CQ WW CW	Nov 24/25	www.cqww.com	

Memorial Contest 2018 Results:

Callsign	QSO Phone	QSO CW	Points	Prefixes	Score
Mixed Phone & CW:					
ZL1XH	135	73	281	13	3653
ZL3VZ	113	65	243	11	2673
ZL3WF	98	62	222	12	2664
ZL2AUB	97	48	193	11	2123
ZL2AQL	8	82	162	11	1782
ZL1VD	71	45	161	9	1449
Phone Only:					
ZL1W	164		164	7	1148
ZL2JML	126		126	5	630

ZL3MR	111	111	5	555
ZL3RIK	85	85	6	510
ZL2OR	81	81	6	486
ZL2LI	64	64	6	384
ZL1GA	60	60	5	300
ZL2WD	43	43	4	172
ZL2NAT	25	25	4	100
ZL1SHP	19	19	4	76
CW Only:				
ZL1NZ	87	174	7	1218
ZL1BWG	67	134	5	670
ZL2GVA	41	82	5	410
ZL2ARC	31	62	5	310

Active		Logs Received	
Stations			
ZL SSB	31	SSB only	10
ZL CW	13	CW only	4
VK SSB	11	Mixed SSB & CW	6
VK CW	6	VK	2
		Checklogs (ZL1TM ZL2BR)	2

It was nice to see there was good increase in the number of stations active and logs submitted. There were a few first-time log entrants, which is a good sign. Special thanks to our VK neighbours for making the effort to boost overall activity.

Official Broadcast

The Official Broadcast is made on the last Sunday of each month except:

- December when the Broadcast is made on the Sunday before Christmas.
- January when there is no broadcast

The broadcast is made on 3900 kHz, and on the National System and local VHF repeaters.

The broadcast is made at 2000 hours (8:00 pm), with a repeat at 2100 hours (9:00 pm).

Members and Branches are welcome to submit material for inclusion in the Broadcast to the email or postal address shown below.

ZL2BHF

NZART Headquarters

P O Box 40-525

UPPER HUTT 5140

E-mail:

zl6a@nzart.org.nz

Website:

http://www.nzart.org.nz/h-quarter/broadcast/

73, Jim ZL2BHF

Off Shore News Links

ARRL News & Features

RSGB News

IARU Region 3

About Infoline

Next HQ-Infoline: - Friday 16/11/2018. Closing date is Wednesday 14/11/2018

You have received this message because you are subscribed on an NZART Infoline list.

If you wish to be removed from this list, please visit:

http://www.nzart.org.nz/join/e-mail-lists/join-infoline-list/